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2015 International Mathematics Contest (Taiwan)
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)1, If f(x)=x3—=2x*—x+5, and multinomial g(x) =f (f(x) )= (x—2), the
remainderis? (A)2 (B)3 (C)5 (DO)7 (E)11

M2 B f0)=xX-2—x+5BIZIFRN gx)=F(f(x))FR2A(x-2) PTIE

RERTVART * Pk g@)=f(f(2))=f(3)=11

) 2. On number line can meet | 2x—3 | < 10, how many x integer ?
(A)8 (B9 (C)10 (D)11 (E)12
BiE : TEIRLME| 2x—3 | < 10 (IS x BI/ME <

-
|2x—3]<10=>—-10<2x—3<10=>——5 <x<

2
x=—3»—2>—-1:01"2:--6 (1018)

) 3. Ifa,bare real numbers and (a+ bi)(2+ 6i) = —-80, thereforea+b =7
(A)6 (B)8 (C)10 (D)12 (E)14

E:Ra,bREBEH(a+bi)(2+6i)=-80Hla+b="

fpi= 0 0 1o
= AT = e 1431 :

—Sa=-4,b=12 tH a+b=8

) 4. BA—FEZERIHBHIE ) BNESEIE AR 15 {18,240/ 30 8l
THB—EERLEIICAE? (A1 (B)2 (C)3 (D)4 (E)5

FZEEVIcEBa r nZEd - Bl
5(a,ta,) 5(a+(a+8d))

5 = 5 =5 (a;+4d) =15

%@IE}FD:al—FaS-{—...—Fag:
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BEIBM=a,+a,+ -+ap= 5(6222_c210,.' _ 5( (01_d,-'2_ (a1—9d;,|j

=5 (a;+5d) =30

{a1+4d:3
la,+54=6

Bd=3
)5. REVDEWEE—RIFBIVRENER f (t)=-t*+10t+ 11> HP
1< t<10 * A SRIFENZNEBNRARER
(A)9 (B)16 (C)20 (D)25 (E)36
f(t)=—-t*4+10t+11=36—(t—5)?
1<t<10 WE t=5FBx KB 36 :
Et-10FBx/MELl > ZMEBHRARER 36— 11 =25 ¥#(D)

( C )6. Bf(X)=ax*+bx®*+cx+d(a’*b'cdREHa=0) 2H0f(2—i)=0

BT -

(i=y —1 ) Bly=f(x) OVEFEL x SHERBEE <
(A)3 (B)2 (C)1 (D)0 (E)0:1:2: 3&BIAE

f(2—i)=0LMBF(2—i)=Ff(2+i)=0

(. f(x) RERIAZIEL)

S F)=0B=@RUR2-i' 2+i RE—EER a
Coy=f(x) BVBRZE x 8GR R—%5 (a, 0)

( D )7. B1XEB1T-F2 XEEB2 JT-EI3IXEF4 -F4 XEESS8 T~

KIS RITESNERA/BI—REMIE » WEETEISE 30 X SEE 30 X
PTESRE - BEASEI NIB—EZEIR <

(A)10,0007C (B) 1,000,000 (C) 100,000,000 JT

(D) 1,000, 000, 000 7T (E) 1, 000, 000 , 000 , 000 TT
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1[2%0-1]

BT :14+2+4+--+2%= >

— 230 1~ 230 (210) ~ (103 ) _ 109

( C )8 ﬁ@?é‘tms(\/_) < 2015 BB x B

(A)9 (B)10 (C)11 (D)12 (E)13

BRAT - 10173 10* < 2015% .. 10* =107%,107%,1072,107" ...,10% » £ 11 @

( D )9. WESKE ABCDVE— 152882123 PHNE—@ » PEEMIE
1BHEE)E  BEERIGEE 1 BIMEE - mEESRIF IR AREE D)
e (A)2 B4 (C)6 (D)8 (E)10

BEAT -
1 2 2
A D A D A D
2 1 3 3
B cC B C B C
1 2 2
SRS =H 2 & Ha1E K28

( B )10. J\REEERS LBEIGR - 86 - BEOBREFLERH - WREBE
FHZPERZEERE 8 & » YLANUER - TESETED—R  BINRE
BRTDEHBERE ©
(A)1680 (B)70 (C)56 (D)256  (E) 168
BT RITREx B ROSBY & RPEB: 2 ROAHEFBU &
X+y+z+u<8'x=>1"'y>1z=>21"u=1

WATRA H®,=C8% =70
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( C )11 BEEIRDZE  BRESKIIARESIREREIERR 0.9 28
BIES SRR BIRERIENEER 0.01 : RBAOPBERESH
1% > STEEBRIEBE—A @ EIUAEREEIE © RIS

. 8 9 10 11 12
) (A)z—1 (5)2—1 (C)z (D)Z (E)Z_l

BT -

1 9
100 “10 0 4
p: — ) %(C)
1.9.9 1 2

100 10 100 100

( E )12. S X {EBESDPEHSBRABH2NGE (LUK » Bl w=7
(24—X) REXBESDPEFOTEEEHBHSLINNGR - T Y K&
BESPEH22REEDAIRMNIE - 82 X Y 2R Ry * W Y
2 HERERENA Ruy Bl Ryy B2 Ry MBI BRI » TISRIBOERE °
(A) Rww=7 (24—Ryxy) (B) Rwy=T7Ryy (C) Rwy=—7Rxy
(D) Rwy=Rxy (E) Rwy= —Rxy

Ry ' &ac>0
BBHT : R (aX+b’cY+d) = { XY #“C ,
—ny’EaC<o

B Ry = R (—7X+168°Y) = —Ryy ° OGE(E)
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( E )13. 53K logs\/1—00530° + logs\/2+tan60° = %

1 1 1 1 1
w5 B-5 ©,; Oz &-¢

BEAT log, /1—§+10g8\/2+\/§=log8\/(1 —g)(2+\/§) =log8\/g=—%

( D )14. Sin6 —cosf = \/% » Sin, cosO 43 2x% + px + ¢ = 0 BUMIAR » BUFIBITX

PP—8g=* (A)% (B)% ©) 1 (D)g (E)g

BRAT : sind + cosO = —% = p = —2(sinf + cosH)

sin@ - cosf = % = g = 2sinfcosl

B p? —8q = [—2(sinb + cosB)] ? — 8(2sinbcosh)

2
= 4[(sin0 + cos0)? — 4Sin000s9] = 4(sin@ — cos6)? = 4 - (—) = %

( C )15. 0EPTR» ABCD RBEMIZEIGER » & ~DBC = 30°
ZABD =45°:CD =6 BI{fE2 4D = <
(A) V2 (B)3vV2 (C)6v2 (D) 2v3 (E) 4V3
fE4T : AABD E2ABCD BABRIEINEE »

gy A2 _ i AD=6v2

( E )16. AABCTH » BHIAB =5 cos LABC = — 3 - BENBERER 12+ 8)

sin/ZBAC =<

13 13 1 12 33
A) — B) — C) — D) — E) —
W @3 ©f O @
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%@*ﬁ : COSB=—%:> SinB:%
HIEZER : —=2R 13 = s5inC = = = cosC = 12
inC 13 13
. o _4 12 5 33
. sinA= sin (180°—-(B+C))=sin (B+C)) —><13+( 5) = 5%

( E )17. BA x—cos130° BRIBIETN f(x) = 4x° —3x+2 2RI <

1 5 J3 J3 J3
(A) 5 (B) > (C) > (D) 2—7 (E) 2+7

BT : PTOK  BBERTVAETE f (cos 130°) =4 cos °130° — 3 cos 130° + 2
= c0s390°+ 2= cos30°+ 2= 2+ g

( D )18. A4BC @ » 240 2sind + 3cosB =5 B 3sinB+ 2cosd =25 > 8l
~C ® (A)30° (B)45° (C)60° (D)90°  (E)120°

BT BERMIVESHE = 449+ 125sin (4+B) =

". sin (A+B)=1 .. A+B=90° > B .~ C=90°

( D )19. £2RA 13 MIE=AF ABC EZEDBIEN—% 4
P-Q "R’ 13 APQR FER—F1TILE » WEE P
P : ETI0EF APQR BIEER 20V3 » AR
B PR OEER : e e
(A)4 (@B)5 ()6 (D)7 (E)8
AT : ' APQRAR—1TJUUEH, > . AR = PO= PB H AP = RO = RC

%2 AP = x* PB = AR = 13—x

1__
AAPR EDWE‘J%F@—EAP X AR sznA——x(13 —X) X 5in 60° =10v/3 = x =518 8

PR =524+82-2.5.8c0s60°=49, PR=7
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( C )20.;

DEREVALR D FHRREE EHBIRRIK - £ 54 10 : 00 BgIKENINE
B 4 10: 10 B8R 34° - 35
% - BRIKEVBERIET NYIHE—

73 30°

A T&R¥IER 4 10: 30
BEE <

0

30°

34°

39°

40°

41°

42°

43°

sin®

0.500

0.559

0.629

0.643

0.656

0.669

0.682

cosf

0.866

0.829

0.777

0.766

0.755

0.743

0.731

tan@

0.577

0.675

0.810

0.839

0.869

0.900

0.933

(A)39°  (B)40°
S \_LIIZ7J\$EEﬁEZ% 1

. tan34° —tan30° = 0.098 (10

(C)41° (D)42°  (E)43°
BRAT -
DiE)

&8 tan30° + 3 x 0.098 = 0.871 ~ tan41°

( B )21. 0GB «BAC= 60" ~ABD=,ACD=90°°AB=a"
BD = b > NYZEBOBILUFKRD CD <
(A) asinf + bcosb

B

(B) asind — bcost
(C) acosf — bsind (D) acos® + bsinb

(E) asin + btand

47 : CD = CE + DE = acos (0 —90°) + bsin (0 —90°)

= acos (90°—0) + bsin (90° —0)

= asind — bcos0

( E )22 EWNRELSHMHERLOFMEU TMERK » TEERSERSE -
 BIEBpERNS - ENNX
G

— ~ BISANIERERS AR 70 DN(E)AL ¢
TF2HBEX 65 DMBEMARSSREHEEN -
s LEEDY <
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(A) NXHVRIAHEARZE 70 2

(B) N\ NHIHZ2AHEN RIS

(C) N\MYBIRIANH#E 70 DA BRGNS

(D) NNHVRXBAEARE 70 2 BENBENRS

(E) N\NRIEBHERE 70 DB AR

BT+ 52 p ZREISANHE 70 D(E)BAL : g REI A 70 D(B)AL

r REBAERTS
K~V O AP)=E~@V OV ~r=(p A~V ~r
VBRI ANAEARZE 70 DNEE IS RIS

( C )23 EEEREFEHNL 1911 FLEEITES  HIU : KB 80 &F ° FEITHlE
80+1911=1991 & » SHEREFGIT 2015 F » FHR T 1SS <
(1) B— TR (IR) FHRITORE I
(2] IBEEEZFEL 4
(3] #ARIIL 20
(4] B3l 25
(5] EEEINEHENLL ]
(6] RBE—ELTR > HEBHEREIR (IR) BENI—IGTE
RAEM (R B—E={IENHF - E—EHFZER W) F
HESRIROURE —NI - B TIRIMEMR (IR) VEREE !
(A)1715 (B)1615 (C)1515 (D) 1415
BT DFRSRISREB—(IE X =
(4x+20)x25+ [ 1=100x+2015 * 100x+500+[__]=100x+2015

500+ |=2015- [ |=1515
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( A )24. WE > BCEF BF1TU:EH » =B ABC 2—1@ A
ER=BF 'BCR8LD 'ACRTAD ' EF
O EELL =B ADH BVEEX 12 A0
KHCHRE -
(ASAD (B)4SAD (C)61”7D  (D)5517D

A
AT : a+b=c+12 » a+b+d=c+d+12 ° F D/éH E
a/ b
BCEF Bf&=ERBAABC+12=8x7+2+12=40 % /
BCxHC=40 * 8xHC=40 * HC=5 A7 B C

( B )25 RR49BBEMEBE—ZMR > B & ARIEEA - it 37 FREZRRH
RE PRILE JFI0E RS 128 - BEDBBIDRES
LI RHRIEE T
(A) 4 (B)5 (C)6 (D)7
B O URPZ1E=>FB16E:RAI1LE = R23F BIPAEE
QURPZ2E =>BITEARAII0E > R22R AIPAREE
Q URBIIZE > BPI8E RNIIE > 21 F - AIBPREE
@ URPZA4R > P19 RAI8E > FN20R AIPREE
GO URPZ5E = B20E:RI7R = R19R - HIPSE

IMC BB E EEVE - —F84l FIHIIOH



5188 (B&257)

. BAABCBV=E7BI#/mAD =6 BE =4>CF =3¢

(1) FEBAABC E—HB=AK - (107)

(2) KA4BCBIEIFE © (157)
1

. PP P S R L
BT (1) asbic = —=izri===gizig = 2:34
Ba=2k,b=3k,c=4k (k>0) " c>b>a . Z/CHEwK
Ao a2+b2—02 1
FERAEIR © cosC = oorar ~ T4 <0

C. ZC BB NAABC RTUB=BF

(2) AABC = s -G — D)5 — ) = yaAD = 315K = 6k
" k=%ﬁﬁl&13€=6k=@

16V15
5

T:(1) B (@
L R RERB=RZBIBEI - BR () BRAx2 +x—2 ZERTM S — 11 f(x)
FRAx2 +x + 2 ZERTAD —3x -7 ©
(1) K f) BRAx+ 2 28 RT e (109)
(2) K f() ° (MlaxP+bx?+ax+dFEREKTR2 ) (159)
BT (1) x24+x—2=(x+2)(x—=1)
CFTR=f(-2)=5-(-2) - 11 = -21
(2) 8 f(x) =(x?+x+2)(ax+b) —3x—7

(/D =4(a+b)—~10=-6
{f(—2) =4(=2a+b)—1=—21

B f() = (x2+x+2)(2x—1)—3%x—-7=2x3+x%2-9

a=2,b=-1

E:(1) 21 (2) 2x3+x2-9
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